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Find "a", "r", and "t," for the following sequence!
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http://home.alltel.net/okrebs/page131.html

Rrithmetic Sexies

Series: The sum of the terms of a sequence. The
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sum 1s usually finite: 1+2+3+4+5. However
it could be infinite: 2+4+8+16+... You can
find the sum of many finite series and certain
types of infinite series by using formulas.
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http://www.ucl.ac.uk/mathematics/geomath/level2/series/ser2.html
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Find the sum of the first 100 terms of the
arithmetic series 1+4+7+10+...
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Find the sum of the following series
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Hint. How many terms are there?
a="% 36
d=1 'Eng 0\"‘(\'\"\

tn = 20 20=1 « @33

n= 40

%'-—
N=40
6'-Iom'—a.Q("la_"\'a>> ¥ | .20
o
= L
_30(5‘9 a-k-'_'!g_



How many terms are 1n the series:
3+8+13+...+248 1f its sum 1s 62757
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Find the indicated sums of the following
series:

S5 of 2+6+10....
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Homework
#1-8
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